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Subject Stenographer Gr Il

Q.1 Ry 7y faerent & |, i v AfYa adah @ gua= &1 g«iifh, var Reey s i i avg =81 81
39 faered o1 Ta=T &R it arehl & S1eTT &1

Ans  of 1 PNL
/X 2.GDA
75 3.KHE
X 4.vvs

Question ID : 54592714347

Q.2 Ty g faeret & |, fi v AfYa aiah @ gar= &1 gr«ifeh, Tar fRerea 3= s it avg =81 81
39 fAhed &1 =g &R St areht @ SfeTT 81

Ans X1.W
X 2757
X 3.9
of 4 sit@

Question ID : 54592714346 ]

Q.3 Prefafla se siaen # w1
15,20, 18, 23,21,26,
Ans X" 128
X 2.33
W 324
X 4.31

Question ID : 54592714362

Q.4 39, UUl, WA, a9, I1fgg ofik Si9a Uah ufth & 33 &1 a1fde ofik o9 dheg A &1 o= oiik
TUITY EH1 BR UR &1 I@HTH 318 & a1 3R 38T &1 Uuity & 214 § ahie &2

Ans X' 1 gme




X 2.9
X 3.
V 4 St

Question ID : 54592714355

Q.5 Ry g Repeut 7 @ s1ari H ga St ol 714 =, it g 7g 1D & srgEu B
PFA : RHC
Ans & 1 EDC: ORI
75 2.UHN:PSJ
75 3.TGV:JGP
o 4.QTK:svm

Question ID : 54592714351

Q.6 U fAfYa wle wmer & "TEARS" & "23-8-4-21-22" forar 1rat &, fh "SMILE" &t 39 uahR forar
SITQ:

Ans X" 1.22-1511-14-8
X 2.19-12-8-11-5
/X 3.19-13-9-12:5

o 4221612158

Question ID : 54592714353

Q.7 us veft & fafera dufaal K ama mieai, smw, fege, A=l 800, AR, s+t oii fomt g
&Y 3R 7 fohg @2 &1 Sher it & sret A a1 v @1 fbt, fohue & o1 sk A T R @)
arsfa 800, ST 3R g+t & i g1 fhue it e/wT & a1 3R @ AT &, T BR R g1 hea1
T iR AT H MHR 2

Ans  of 1 nffd
X 2. e
/X 3. aa

X 4 fEm

Question ID : 54592714356

Q.8 ue FAffa wicter d vaer & forg uehten gt vt 7€ 81 39 T & i g sroifg, st sk sig
g1 ersitg 3R ity & oo a1 aaftr ok st ofk Sig & i oe =afth §1 oFR Big T oMl
& =afes ok sroita & fid 21 =af~wh & ofk i Sig d @ ugen aafr & at uden =t F =Faw
T T g Yehell 27

Ans X" 139
/X 2.45
/X 3.36
o 422

Question ID : 54592714357

Q.9 fF=fafle sier siEen & g ug &I 719

XOXXXX, XXOXXX, XXXOXX, XXXXOX, XXXXXO, ?




Ans

25 1. XXXXOX
5 2. OXXXX
o 3. 0XxxxX

75 4. XOXXX

Question ID : 54592714345

Q.10 Ul # 3} &y fRu Q0 &, 39 a1g &t e | 3R 11 2w 1w €1 erruen) shu=l &) Ieg |J1=ET €, 9

Ans

& Ug =g U 9 714 J4] @ A7 g Ukt ag au R @ R Ru g syAi A @ sl ar
forsend], afe S &, o1 STgERYT TR &1

U 1: O I Q4 &1
U 2: S IR M &

e |: o o SRR &1
s 11: Toft SR A9 &1

75 1. Sare e |1 SERoT gl @
75 2.1 3% 11 @ srgerr hed B
o 3. e Freae | argeRor RaT &

25 4. AT E I SR BT &

Question ID : 54592714361

Q.11 Ry 7y el & 2reel &Y 3 Sifear 9u= T @ G4fdq &, 3R U Sl ofenT aig @ 9«fid &1
I SISl AT Y ST SfeT aRg @ T fdd g1

Ans

o 1w

X 2. st
X 3w AR
75 4. e e

Question ID : 54592714348

Q.12 ue fAffa ST wrar &, af¥ GO = 105 3k SHE = 760 &, &Y BAIT f3 sRTer ghm?

Ans

75 1.400
X 2.420
75 3.380
o 4360

Question ID : 54592714352

Q.13 Fr=fafE@a # 9 ol a1 2res g 7Q 216 & 31&RT 1 UGN Teh @1 =TT I JehelT?

Ans

MODULARITY

o 1. TRADE
/5 2. TRIAD
75 3.AUDIO

75 4. MURAL

Question ID : 54592714343




Q.14 39 feheq =1 7 o St AR ug @ I yepR @ Heifda @ 9 yahR & @R ug ugst ug &
Teifdd g1

|is : M o R : ?
Ans  of 1 T
X 2.8
X 3. el
X 4. =it

Question ID : 54592714350

Q.15 af} frelt 7R Y 6 A gehaR o &, at I8 A Y 29 arE Jearg & & fha R gm?
Ans  of 1 <RaEr

X 2. TR

/X 3.guEr

X 4. gfER

Question ID : 54592714359

Q.16 &g g sy 3R At vl e @ ug ok FAofa & 6 Sy d @ &l a1 A aifdhar Tu @
SIIERYT el B

HY:
it ffara § 38 wraar 8, 39 WS 7@ 81

forsenrf:
I. o wi & g e @i & R gl & g sreawT s der ot 81
1. frem Y sraeRon § ugst HATST & A & faf Ve wagl & forg swm srawR 2

Ans X" 1. et fene || SREROT eheel &
o 2. 3 Frea | srgeRor awar 8
25 3.1 81R 11 2 SrgeRr aa @
K 4R TE NI HFEROT el &

Question ID : 54592714360

Q.17 fF=fafe@a sier sjiaer d g ug &t 71 &R

KJ, PO, UT, ZY, ED, ?

Ans  of 1 Ui
75 2 H
/X 3.HI
F AN

Question ID : 54592714344

Q.18 af¥ CLENCH @1 @< & LCNEHC @ PHYSICAL &1 @i & 82
Ans X" 1 LACISYHP

75 2.HPYSCILA
75 3.HPSYICLA

o 4 HPSYCILA




Question ID : 54592714354

Q.19 %mﬂﬂé&ﬁaﬁwammélﬁqwﬁwﬁﬁﬁaﬁﬁmqﬁa’rmﬁw
I

Doctor, Tornado, Adorable, Blender, ?
Ans X" 1 Adopted

( 2. Derivate
x 3. Blemish

x 4. Torment

Question ID : 54592714358

Q.20 39 fehed &1 aa+1 o St IR ug 9 I} HehR @ HEfda @ S R @ us g ug @
Hafda 81

JGN:HEL :: KQC:?
Ans X" 1 HNZ

o 2.10A
/X 3.MSE
75 4.LRD

Question ID : 54592714349

Section : Mental Ability2

Q.1 Ry 7y faeret & |, i v AfYa aiteh @ gum= &1 g=ifes, v Reea s di i avg a8l &1
39 faereq o1 w1 &3 it arehl @ 31T &1

Ans " 137
o 257
X 3.67
/K 4.47

Question ID : 54592714367

Q.2 = d & &= &1 39 o gfdd, f@vu ofi wiaTeTRal & dfiw & ddu wi gaw st garfar &2

Ans ) Q
OO0
SR

K2 |
Xaplh




Question ID : 54592714373

Q.3

Ans

fag g farered & 2real it 3 SIS THE wU O H6fda §, ok Ter S oien avg @ Hefda g1 39
SISl ol 1A R STt 31T g @ Hafda @1

/X 1.67,32
W 237,63
/X 3.58,41
< 4.28,71

Question ID : 54592714366

Q.4

i Ry 7y FHfieror &t 7ol w0 @ 9 I9 & g, e &1 gl ) e TuEiaRa &=er
=ifeg?

72x3+8+4-6=50

Ans x1.—,x
Xz-,+
K34
(4.x,+
Question ID : 54592714369
Q.5 f=fafle segpfa 8, arf uraere &t g2ifar 8, Berior arsfhe et wi gafar &, g= Tl @t

Z2rfar & iR amaa =i+t Y gufar 21 31eR) 1 i T1 Qe uraerel & g2rfar @ St asfhe aes
&

J
I
G
AN
A
E C
D
Ans x 1. AB
X 2.AC
/X 3.FG
o 4.GH
Question ID : 54592714372
Q.6 I fehey o1 ag & Wit o T 9 I uehR @ H6fa g O vepr @ ot dwen ugeft

Ans

T § GrEfid @ "afdd gl
216:124::256:?

/X 1,154




X 2,144
/X 3.134
of 4164

Question ID : 54592714368

Q.7 U e d i RET SguR TR & g &t Aiga ST d< forg g &1 €1 7 IR anepfaal
|, 3T R 6 3@ @e oA R ag e R s &m

Ans

Question ID : 54592714381

Q.8 L 3R M U &l foig & wrsforet 9 & &wat 1 L 23 km IR A arsforet g €, fo ore a1

3R geeht & 3k 3 km Arsfhet Tl §1 39w M 7 km gd & arsforer eran &, fRR afeyor Hr
3R Far & 31k 10 km Trsfohet Temar &, fR a9 gear & ok 4 km arsfhe gemar 81 L, M &Y
foafa & G & o1 shgi &2

Ans  of 1 33kmIw
75 2.16 km afgor
#< 3.33 kmafgor
75 4.16 km IR

Question ID : 54592714374

Q.9 TR feedl A & fiv var AfYa adieh @ g+ @ ok was ore &1 ag e faerea @St

Ans

P

>®
@O0
> ®




(3 I 7]
X2 [D5&q
@vO

Question ID : 54592714376

Q.10 uer A & E &f snepfarai gen e a¥ics @ 9w €1 faereal A € haet g simepfa, St arg S usr
# & 7 @ enepfaal & T &1 I SMepfa Y A R

oAIOA
mE|w O

.
- [5%
- [5S
¥

Question ID : 54592714378

Q.11 = fey 7¢ gefierzor @l nitrda Fu @ T a9 & A for St el ol e TuEiEaia
foram s fge?

22+88+11-2%x4=7
Ans X" 1411
K 2.222
o 31122
K 4.422




l Question ID : 54592714371

Q.12 us 3Tepfa & Y g Gt ol a9 & g @i | fehea S ST aend 82

Ans

Question ID : 54592714382

Q.13 fu 7y fAereut & @, i Tes fAfYa adid @ gu= &)1 greifes, ek e ora 9 f a=g &t &1
39 fAehed AT == 3 St arehY § 1T 21

Ans X" 1100
o 2.1000
/< 3.900
75 4.400

Question ID : 54592714363

Q.14 af 5#2 = 70, 2#2 = 40, 149 = 100 A 243 = 2, 1 e TA T2
Ans X" 160

75 2.10

o 3.50

75 4.70

Question ID : 54592714370

Q.15 afe Tk g4 &t A = 13 Al fiet F1 @ T S1aT & 3R 3=y i avw &1t 77 @ 3R 39 64
B gl § hre fam SIrar @, At 9@ fohd=t B1¢ 9 & Ueh dvth oTeT 3R Qeh avwh i R faredt oft
3= T3S W hig Ue g1 ghm?

Ans




Kos
K 216
X 39
o 412

Question ID : 54592714379

Q.16 fFAfafEa & & w9 o IR enepfa, ust sirepfar § g2y 7 de =t QT et &2

 —
?
Ans
ol Ve
X 2
!

Question ID : 54592714380

Q.17 & 7 sjget § e ST 7 R

10,8,5,1,2,-10, -17

Ans X" 1.4
X 25
K 35
v g

Question ID : 54592714365

Q.18 39 B &1 T4 &R &t N B T I vehR T Tdfda & o9 R i s uge sl
Teafa g1




s .s L] ?

Ans

Question ID : 54592714377

Q.19 & 7 sjaer | eI T A R

6,12, 24, 52,96

Ans X112
K 2.24
/X 3.9
o 452

Question ID : 54592714364

Q.20 Ueh ESfAER Teh A o1 Tderor o 38T &1 STt Hg afur-gd fRen & &1 ag ot Hr Rm & 180
Y, fo= arrad e & 90 fft ez fohe o ik 90 f3ft 7= SraT 1 S5em Hg orw fore R &

&7
Ans X1 g -ufgm
X 2. gwRud
/< 3. cf@oruiEm
o 4 zfogd

Question ID : 54592714375

Section : General Awareness1

Q.1 ____ @t'RARA Oiser’ & A @ off st S @ raifes a8 g wu @ ) anfeat ur ors el @1
Ans X" 1 drvrge g
o 2 For A




/X 3. o g
X 4. e g

Question ID : 54592714400

Q.2 awamr A i A afkat iR sreieheier & Tiw @ a9l &1

Ans

F R
o 2. smiReft
/X 3. Riyg

X 4.y

Question ID : 54592714398

Q.3
Ans

Prfoft el sk g A 21
V1. st
X 2. @
P S RIE
X 4. e

Question ID : 54592714384

Q.4
Ans

ANE Qeaé o Ieaad fig 21
75 1. e
X 2. gdfare
X 3. 7o

Question ID : 54592714399

Q.5
Ans

fSien fore UehR o1 31Tk 87
25 1. gifere s
X 2. Fete s

o 3. TewEs

19

/X 4. Sitearzs

Question ID : 54592714391

Q.6 Fiadhell ______ & ST Qe Ulig A &1
Ans ?(1%‘1“
(2.&'&1&%
/< 3. 7w
/X 4.\
Question ID : 54592714383
Q.7 IRHR At AfSIE & a1y Tt & gff ae R = &1




Ans X'|EESU'|T
X 2. wemd
o 5

/X 4 arh

Question ID : 54592714385

Q.8 davdhsa_____dAfad
Ans X1 argm

o 2w my

75 3. smmy

/X 4 g

Question ID : 54592714397

Q.9 T QIR fRRepE o1 =i A @1
Ans x1-W

X 2.

75 3.

o 4 T

Question ID : 54592714392

Q.10 sRgeTRAYs_____ #gerR d AT g1
Ans  of 1 sraifts

X 2. FRydm

75 3. merid

X 4=

Question ID : 54592714401

Q.11 2001 # & farmr w50t a2rda f&war 3 59 g &t gea R i ase _____ der frar @A enm)
Ans X' 1 4 3RTg

X 2.9uafg

o 311w

75 4.6 3RIg

Question ID : 54592714387

Q.12 2019-20 & o HIEH & forg = o1 gAaa T geg _____ wug ufd fRiea 81

Ans  of 11815
/X 2.1825
75 3.1845
/X 4.1835

Question ID : 54592714388




Q.13 et ST dg W STt URFTOT & ERT URTT ol ohl T el 8, a8 &1
Ans  of 1 fem

X 2 ot
X 3.3

X 4. TR

Question ID : 54592714393

Q.14 Y w1 g RSt heR AgIen &arg, a8 ______ gl
Ans K1 T

o 2 R
X 3w
X 4w

Question ID : 54592714394

Q.15 YRAH UgeT dh _____ Tl
Ans X 1 wrdra Re da
o 2. st da oife R
25 3. Teer don it S
/X 4. i st

Question ID : 54592714389

Q.16 AT Ued &2 T &2
Ans X" 1,70 vew/ e

X 2. 69 g/ e
/X 3.75 U/ e
o 4 720w/ e

Question ID : 54592714396

Q.17 AUt gt a1 g wRdT T4l - RAfrm, uffw dne, fagr, stRwereiR_____ Fary
TSI T &1

Ans X1 armm
75 2. sifRan
o 3 sREs
X 4 mmmRy

Question ID : 54592714402

Q.18 F=faf@a # @ fFd et iR & wu & +ff s srar 82
Ans  off 1 wEiqaeh

X 2. dRR

75 3. 7@ Re=ify




/X 4. die

Question ID : 54592714386

Q.19 i A fAgm & gt mar @ fF {9l & uaR & @R arumE R gara Y guE el & aga sae
o & Fifge & ot sgurfae 87
Ans X' 1 R ol R

/X 2. dfaet o P
W 3. o @
75 4w @ fam

Question ID : 54592714390

Q.20 MSWM T df@icfiesor _____ 31

Ans  off 1 PR T e Fec
/X 2. mRfdue de A aifth e Aaee
X 3. Horie R AR G A PR
X 4. i s 3w e

Question ID : 54592714395

Section : General Awareness2

Q.1 wihoft, AfogH iR Aurchi &t 71 Feefedh ___ Srqegeht & simwnaeit & w0 A ster man g1
Ans X173

o 283

/X 3109

X 493

Question ID : 54592714418

Q.2 Ggga-U-fRisiandl &Y senapuT 81
Ans X" 1 sgEe @

o 2. it e e

X 3. 75w grere

X 4. Prargé grers

Question ID : 54592714409

Q.3 21 rgried e R Aftmafam _____d gg o
Ans x1.q§ﬁwﬁ

Jz. ifeem

X 3. 7R

X 4.7

[ Question ID : 54592714422




Q.4
Ans

g | T RIS e
AR
75 2. i
/X 3. i
75 4. Tl A

Question ID : 54592714408

Q.5
Ans

SRR F 1857 & Ag™ fgle & Aa1 i &2
75 1. 3 wrerard
W 2 i i
X 3. R Rig
75 4. srsge aeh @M

Question ID : 54592714407

Q.6

Ans

3IFHE 171 & IR, forelt Troa A frem= uRve & et wgw foedt off Rafa d @ & g

g
o 1.40
X 2.60
/X 3.70
X 4.35

Question ID : 54592714419

Q.7
Ans

YR B FUTH 1 Jad TSISAGH ______ 2l
X 1. ufE e
X 2. amm
W 3. T

X 4=

Question ID : 54592714403

Q.8
Ans

ofar-yerida 8 # 9ad gt g daR voeh @1
VAR
X 2.3
X3

/< 4. .

Question ID : 54592714415

Q.9
Ans

o aferesl ___ grr o mé @i
K1 e REa
X 2 S ad
/X 3. e Swf




(4.&@3@@@

Question ID : 54592714414

Q.10 fig Rver gafdarg sifdfRow wa ailka frar mar ar?

Ans

o 1.1856
/X 2.1862
/X 3.1839
/X 4.1852

Question ID : 54592714406

Q.11 _____ R 'Tafides ugn Afawer o mar @1

Ans

25 1. sisifer s
7% 2. v feh
(3.@6111&1?&

75 4. Sem arr AR

Question ID : 54592714412

Q.12 fEe YR Aoigy W9 Hi 6 TuraAT e 62

Ans

75 1. s g ok Y ey

£ 2. ST STt 2 3R R e
o 3. 77 T S ok T TE Y et
75 4. widee A ok e

Question ID : 54592714404

Q.13 & 7 & ar @ oY i Sirar 872

Ans

75 1. mgreA it
o 2. @t e
/X 3. SarEREe FEE
/X 4 g g

Question ID : 54592714410

Q.14 freht RE™ & AR & g <g=aw sy e @ 82

Ans

X 1189
/< 2. 10a
v ERVE
X 416

Question ID : 54592714417

Q.15 wRAAR T3k fastar a1 Iac ulkeril &t 7d & T A1k gaiTarsn A &1

Ans

75 1.30,000 3uY




75 2.25,000 7Y
/< 3.60,000 7Y
o 420,000 TG

Question ID : 54592714411

Q.16 ST 3iiu BWF g2 gur 1000 gFfde forast sfiar?
Ans X1 QM Ed

X 2.3 g

o 3. s A
75 4. dqd Rig

Question ID : 54592714420

Q.17 3= 170 & IHR, e asa Y Aur g & def Hraen @ oifdres =i g+t
@yl

Ans  of 1 500
/X 2.525
75 3.450
/X 4.600

Question ID : 54592714416

Q.18 3heR & AR H o AATERR i UT?
Ans x1_a§aaﬁﬁ

o 2 A=

/< 3. gt e

/X 4 dRaw

Question ID : 54592714405

Q.19 Ay g5 | & e 2nifd Tg v & fog o da frvamoar ___ d iy ad o
Ans X" 11905

X 2.1921

o 3.1919

X 4.1902

Question ID : 54592714413

Q.20 SiRiga Prhe uRUg A ______ =t ag giiffa o d fAver g & fog Reifa e R s @«
& G d hld Thr) g&Eda T &l

Ans JT%@'@\
P W ALCS
75 3. ezt
25 4. e

[ Question ID : 54592714421




)

Section : Arithmetic Ability1

Q.1 40/12, 36/20 3R 32/18 <kl AgH GHIUddh AT bl
Ans  of 1 1/45

X 2.1/72
X 372
/X 4.45

Question ID : 54592714427

Q.2 U UTgeh 70 FUT Ufd siex Ugie @IIga1 §1 39 37U+ shise 1< wr 10 ufaera 6 ge ok 2
ufa=rd a1 g9 fAerar g1 g fras ufara dgte o1 yiar avar 82

Ans X" 1,90 wfdra
75 2.62.50 ufaera
7 3.75 ufaz
o 4 88 ufdem

Question ID : 54592714438

Q.3 40, 55, 60, 42 T HE<IH HHTYEAE AT I
Ans X' 13

5 2.2

W3

X 4.4

Question ID : 54592714432

Q.4 af fareft avf &t v S @ R Stran @, ot Swa A ufaera gfg = 2
Ans X" 1200 wfdzrd

o 2. 300 vfera
7< 3.800 wfaer@
75 4. 400 ufaera

Question ID : 54592714437

Q.5 <if3e = 80 il # 96 w1 s=Q1 Al 4 gl A 24 7 TG 7Y, A 2w Al A e = A A e ufazEa
FHaN?

Ans  of 1 750fieE
75 2.70 ufdera
75 3.72.50 ufazra
75 4.77.50 ufdera

Question ID : 54592714436

Q.6 TaIA T} T&=GT T &, Sl FHHLM: 79, 96 3R 65 okl fAMIfAa ek AW 4, 6 3R 5 Big Tanedt &2




Ans

o 115
K 217
X 319
X 413

Question ID : 54592714424

Q.7 f=fafle 6w de d | fora o agen aemeds 144 ik A @gads 12 87

Ans

75 1.(18,30,36)
/X 2.(24,30,36)
/5 3.(2430,42)
o 4 (24,4836)

Question ID : 54592714431

Q.8 WA DR V121 + V(110+V36+v25) = ?

Ans

12
K221
X 319
/X 4.20

Question ID : 54592714426

Q.9 TRAFT: (3.5x4.25) + (2.75% 3.375) = ?

Ans

75 1.136/235
o 2.476/297
/X 3.238/145
/X 4.140/337

Question ID : 54592714423

Q.10 XA gra A AR afg: 7+ x+(3%x3)-5=5

Ans

7

X 2.7/3
X 372
X 4.7/4

Question ID : 54592714429

Q.11 UyH R, A9 3ich Uy TEAT3il At 3T T 3|

Ans

725 1.100
o 2105
75 3.110
X 4120

Question ID : 54592714433




Q.12 Qe FhMFER 450 ufe kg FUQ Farhed! @RIgT & 31k 39 50 g & Gohe | dudr g1 ek dehe WR
SifaR<h mTa 0.5 FUQ &mar &1 10 ufaera |19 FaF & g 3/ Gihedt & v dhe @t e
T UR ST Afeg?

Ans x 1.23 %UQ
/X 2.21 %0y
75 3.27.5%ug
o 425370y

Question ID : 54592714440

Q.13 TRAFL: 1{1x1+2x(2+3)x4+4x4}=?

Ans  of 1 108
X 2112
/< 3.9
/X 4.54

Question ID : 54592714430

Q.14 af&a, b, ¢, d egurfarr & efiR (a+b):a:: (a+c): d, d AT H?
Ans X" 1. d=a+b

W 2d-a

X 3d=a-b

X 4.d=b

Question ID : 54592714442

Q.15 39 7 ufd 99 Uas $UT & fgara & 10 99 321 29 & sia &, 39+ 10 vug A 8 U9 I+ 2y, srafs 4
O o | g1 It eitwa fersht gea @i 32

Ans X" 1.0.82 %07
o 209170
/< 3.0.88%Ug
/X 4.0.94%ug

Question ID : 54592714435

Q.16 < g1 1 =Iohed A2 4T, 91t 3R 251 sq cm T &1 Ikt st Hwar 7 &?
Ans  of 1333cm

/X 2.4.66cm
/X 3.5cm
/X 4.554cm

Question ID : 54592714434

Q.17 Wah &R 1,00,000 FUQ F @< 775 oft 3R 10,000 FUT 777 wR @=f foham 7mam o1 R a9
1,32,000 FUq & a=ft 7 oft1 3[eg w17 ufdera wd w32

Ans X" 1. 25 gfdsr




/X 2.32 ufarr
/< 3. 16 ufazra
o 4. 20 vfem

Question ID : 54592714439

Q.18 4/3, 5/2, 3R 6/13 & eH THATILIh T h?
Ans X" 1.1/60

X 2.1/78

/X 3.78

W 2. 60

Question ID : 54592714425

Q.19 Qe WIS & R 50 U 3R 371 99 40 FUQ & =1 ST 81 af ghTeR Tah bt | €11 80
FU # et &, @t it due | IR JeheT o1 ufaRre fohaen 82

Ans o 11111 ufeera
/X 2. 15 ufaz
75 3. 10 @
75 4.12.50 ufaera

Question ID : 54592714441

Q.20 X 3fRY 2 gt UF 3ieh &, fAi=TepT SrguTe 2:3 & 3R IAhT Agwd GHTUad e 10 &1 HEATSil 1 ageH
HHTUGh T H3?

Ans " 150
/X 2.40
o 3.60
/K 470

Question ID : 54592714428

Section : Arithmetic Ability2

Q.1 arferenT oy & SR Geh ShRET A STadeh &feh Forgyl i S iR 3 fes 3= (Fud #)
o g21faT g1 fhe wg # T Aeigd) WR Sif e @< awar &2




AL Y ufar s
el i _=n 2= aa=w
Trast i1zo0 20
wIada 110 °s
" 1s0 7s
e so 1so
=¥ 20 1as
70 160
SO = ==
ST 40 is80
- faaav 30 190
oAz 110 20
oG izo ss
T EEae 130 7s
Ans X 1w
K2
of 3.7
X 4. 7R

Question ID : 54592714459

Q.2 14 cm =9 3R 5 cm FTE a1 RAAS & Iraa i A1 6l
Ans X" 1.577.5cucm

#< 2.635.25cucm
J 3.770 cucm
x 4.385cucm

Question ID : 54592714454

Q.3 50 km/h i sftEa fa & gt W 1 e d e forasit &t a9 o= "war 82
Ans X" 1.866.66 m

75 2.900m

o 3.83333m

75 4.800m

Question ID : 54592714449

Q.4 W Auera H 7R 5 G F GRT AR Fehd & | IH I i F 2918 20 ufara 4fdes Fore &1 afy
I 3R 2UTH ek TTY hTH &3 &, At ITchl ehrferdar 10 ufazra a¢ sirdt 1 af 16 gue duera
6 TR e Y MTaTeRdr @, Y T 3R 2aTH &l Yeh 1 fohaa © Y smagerar ghft?

Ans " 1.10
X 2.9
W3s
K 412

Question ID : 54592714453




Q.5 50,000 FUT okl et 1.5 af & 60,000 FUAY IRTAT TIT | TILROT SATST Y & AT he?
Ans  off 11333 ufs

75 2.14.44 vfdsa

X 3.11.11 ufdera

75 4.12.22 vfdsa

Question ID : 54592714447

Q.6 A 3R B shH2T: 42 3R 21 A1 F 3réhel e RT R Tehdl &1 Tf & Aepferes AT o ovr el &
T GRT e & forg foramm s anfag?

Ans X' 1 35fF
W 2. 28f=
/< 32174
75 4.14%

Question ID : 54592714452

Q.7 Ueh shu=t gt farshi aht Terar 37 & fag fasmu= & ffs aftenl R o @=f et 81 afe o=t
3ot forsht &1 12 ez Tem & g Fer 100000 Fu @ el & at hae srEaR] & A=
ZR1 fshY fora™ ufaera ger 2 arw s & udes adienl gR1 fohT 1T alvrer= vt g21fan &1

s Iz & v Ao &

STN1_HIN_Q31

Ans X" 1. 4.60 vl
o 2. 420 ufsra
/5 3.3.60 ufazra
75 4.3.20 ufazra

Question ID : 54592714457

Q.8 4000 FUY kT 50T HifAek &9 @ 5 ufard 4R 31ifAver Tu T 6 ufd2ra e sur< R 2 919 &
forg Iur R mar an1 afy sifSta sarst 430 $ug & at 6 ufdera R Iur & s ufy 719 w2

Ans X" 130000 3ug
75 2.2000%ug
75 3.2500 3uy




o 41500

Fg

Question ID : 54592714446

Q.9 aferent 3R Heaieh T &% foh fopd adf A aui Tedt 31feres g8 (i 2rel & forg o) sTa arw=

25°C & 31frer 817
T | IR (%) ui @it 9
et |wloem| qat | Wd
2015 28 100 120 140 60
2016 23 90 110 130 50
2017 25 80 100 120 50
2018 24 70 90 110 50
2019 27 60 80 100 50
Ans  of 1 2015
/X 2.2018
#< 3.2019
/X 4.2016

Question ID : 54592714460

Q.10 af ges AfSm & &t GaHIaR A1ge & &ia1s 6 cm 3R 10 cm & 3R 3HehT &9thet 80 sq cm @
at 59 TR gail & i f gl 7 w1

Ans X 1.12cm
o 2.10cm
X3.8cm
X 4.6cm

Question ID : 54592714456

Q.11 Tk g g1 31 7Y 5 A= wepr & =it i qerfa gy aré 3 afk 5 ufaera S de 6 fasht
g 2850 TUY & dt shidst diet Y et foshY gea arar g2

dier &1 fahr

Ans X" 125500

75 2.30,500

o 3.28500

¥Y
FY
¥Y




75 4.32,500 7Y

Question ID : 54592714458

Q.12 g geft 20 km/h &Y 3fiad 7ifa @ I3 Fehell 21 2.5 w0 & foIg IeH WA & T1e, 39 71fa 10
ufderd &H gl 718, 3R 0.5 62 dah IM WRA & a1e, et 7 1 62 & forg s faram soA fe @
IS WA = R oiR 2.5 €2 & 45 km & I w1 39 7 &, ueft i efwa wfa aan &2

Ans " 118 km/h

o 2. 16 km/h

/X 3.20km/h
/X 4.19km/h

Question ID : 54592714450

Q.13 15 Afgemail A 6 6 i &¥h 225 kg ara 6 ufaat 51 A1 8 ' & 12 afgensi gri forash ar
STHT <l ST Heheft 87

Ans o 1 240kg
75 2.250kg
/X 3.230kg

/X 4.220kg

Question ID : 54592714451

Q.14 Uget &t ER[A 3ich SifauTsT et & i iR Iaure & i o1 S1guTd AT 3|
Ans X" 1.12:143

of 2.24:143
/X 3.21:13
725 4.11:13

Question ID : 54592714443

Q.15 7T i 3 3R 71 e 6 For e 40 STt it swer A Sufef gas oifdres &2

ﬂ*i 19
“1 8
E“*. )
-l'l«:
L Bl 3
35 4
"
1 n
2 4
i
0
AR AUEER qUER L Y
<]

Ans X" 1. gRaR

/X 3.guEr
#< 4 EfiEr




Question ID : 54592714462

Q.16 2v3 cm & SRR aTet ¥ & mAa bl ToET |
Ans X" 1 54cucm

x 2.72cucm
x 3.36v3 cucm

o 4. 24v3cucm

Question ID : 54592714455

Q.17 Qe it Iemm 3R Geh garTo ISt 350 km i Tt o fo¥a o1+t Rl & geh g@R il ok
TRYT el g1 7 A sfia & Aea g, @ gons 29 200 km Y gf qu et @1 3R wfa @ e
FE?

Ans X' 1.2:3
K212
X 315:4
o 434

Question ID : 54592714448

Q.18 YT 7 YT & 3 WA deh Uedeh a9 1000 FU Fder forg1 3 w1er & are I/ 3600 FUT W g,
ufa af SrerRor saTSt i & T 87

Ans X 1. 6ufasE
75 2. 12 vfde
/X 3.8 ufar
o 4 10ufsE

Question ID : 54592714445

Q.19 I ek of 3R =1 1 Qe &) A1gS SR B &, at 37 & & srguTd i o A2
Ans X" 144149

/X 2.49:44
/X 3.314:1
o 41:314

Question ID : 54592714444

Q.20 fFr=fafEe aré e 7dR & aRard grr Ag (MT &) Y et @ua &t qefar 81 aRar A fr e &
fra? uRar 15 ufaera ar aifdes g &1 Suiin =a &2




145 1.
£ W 1
s 1R
E 10 i
# s
"
s
A B L4 [+ ]
qfrar

Ans 5711

Question ID : 54592714461

Section : General English1

Q.1 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

The medicine the doctor / prescribed haves unpleasant / side effects.

Ans J 1. prescribed haves unpleasant
X 2. side effects.
X 3. The medicine the doctor

X 4. No Error

Question ID : 54592714463

Q.2 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

My dad shouted / at me because | was rude / to the guests.
Ans x 1. My dad shouted

J 2. No Error

x 3. at me because | was rude

x 4. to the guests.

Question ID : 54592714467

Q.3 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

(Please wait) for a moment, Kiara is talking to Mary.

Ans J 1. No correction required




X 2. Please waiting
X 3. Please waits

X 4. Please to wait

Question ID : 54592714471

Q.4 Select the word that fills in the blank correctly and completes the sentence meaningfully.

The maid
Ans J 1. tossed

X 2. tost
X 3. tosses
x 4. toss

the garbage into the dustbin yesterday.

Question ID : 54592714473

Q.5 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

History reminded us/ that events repeat / themselves.
Ans x 1. themselves.

J 2. History reminded us

x 3. No Error

x 4. that events repeat

Question ID : 54592714464

Q.6 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Please silence in the library.

Ans " 1. maintained

J 2. maintain

X 3. maintains

X 4. maintaining

Question ID : 54592714480

Q.7 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

The Rajdhani Express (leaves from Delhi Station on) seven in the morning.

Ans x 1. leaving from Delhi Station on
x 2. leaves from Delhi Station in
x 3. No correction required

J 4. leaves from Delhi Station at

Question ID : 54592714470

Q.8 Select the word that fills in the blank correctly and completes the sentence meaningfully.

Grandma loved sitting her new rocking chair.

Ans




x 1. upon
75 2. under
W 3.0n
/X 4in

Question ID : 54592714477

Q.9 The sentences of a paragraph have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: Finally thanks for reading, do let me know if there any good resources | could use to find
my birth family.

Q: | think the name | have for my mother is correct and know someone still living in
Calcutta.

R: | have very few details, from what | know | came from St Catherine's Orphanage.

S: Hi, | was adopted in Barrackpore in 1991.

Ans X" 1 SPRQ
/5 2.RQPS
/5 3.RQSP
o 2 srap

Question ID : 54592714481

Q.10 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

Read the (follows instructions) carefully and act accordingly.

Ans x 1. followed instructions
f 2. following instructions
x 3. follow instructions

X 4. No correction required

Question ID : 54592714468

Q.11 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Mrs. Thakur was not quite / satisfied from the exam results of / both her children.
Ans X" 1. both her children.

x 2. No Error

x 3. Mrs. Thakur was not quite

J 4. satisfied from the exam results of

Question ID : 54592714466

Q.12 Select the word that fills in the blank correctly and completes the sentence meaningfully.

He has the experience necessary for

Ans J 1. the
x 2.a
X 3.an

x 4. No article

advertised software job.




Question ID : 54592714474

Q.13 Select the word that fills in the blank correctly and completes the sentence meaningfully.

The school bus driver rashly on most days.
Ans J 1. drives

x 2. driven
X 3. drived
x 4. driving

Question ID : 54592714478

Q.14 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

Kiran was dreaming for / becoming a famous / scientist one day.
Ans " 1.No Error

J 2. Kiran was dreaming for
x 3. becoming a famous

X 4. scientist one day.

Question ID : 54592714465

Q.15 The sentences of a paragraph have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: "Breakup" is commonly termed "dumping [someone]" in slang when it is initiated by one
partner.

Q: A relationship breakup, often referred to simply as a breakup, is the termination of
an intimate relationship by any means other than death.

R: The term is less likely to be applied to a married couple, where a breakup is typically
called a separation or divorce.

S: When a couple engaged to be married breaks up, it is typically called a "broken
engagement"

Ans X" 1 SRPQ
75 2.PQRS
o 3.QPRs
75 4.PRSQ

Question ID : 54592714482

Q.16 Select the word that fills in the blank correctly and completes the sentence meaningfully.

There were many children in
Ans “ 1. the, the

x 2. an, the
X 3.a,an
x 4.a,a

sandpit at park

Question ID : 54592714479

Q.17 Select the word that fills in the blank correctly and completes the sentence meaningfully.




The kids told ghost stories

Ans X" 1 on
75 2. from
o 3. during
75 4. for

the night.

Question ID : 54592714476

Q.18 Select the word that fills in the blank correctly and completes the sentence meaningfully.

The sailors walked the ship.
Ans X" 1 top of

X 2.0n
J 3. aboard
X 4. under

Question ID : 54592714475

Q.19 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

(What were you does) when the courier arrived?

Ans x 1. No correction required
x 2. What you doing
J 3. What were you doing

x 4. What were you does

Question ID : 54592714472

Q.20 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully.

(Does Shyam writing) novels or short stories?
Ans x 1. Do Shyam write

X 2. Does Shyam writes
J 3. Does Shyam write

X 4. No correction required

Question ID : 54592714469

Section : General English2

Q.1 Select the option that best expresses the meaning of the idiom or phrase given below.

'‘Back against the wall'

Ans J 1. Be in a difficult situation from where escape is difficult.
X 2. To do something badly or cheaply.
X 3. Running away from tricky situations.

X 4. When you're really in need, you think of creative solutions to your problems.




Question ID : 54592714493

Q.2 Select the word that is opposite in meaning ANTONYM to the word given below.

BENEVOLENT
Ans x 1. Malignant

J 2. Miserly
X 3. Agrarian

x 4. Urbanised

Question ID : 54592714487

Q.3 Select the option that best expresses the meaning of the idiom or phrase given below.

'Bite off more than you can chew'
Ans x 1. to fiddle or meddle with something

x 2. to break relationships with others
( 3. to try to do something that is too difficult for you

x 4. to be able to predict the future

Question ID : 54592714492

Q.4 Select the option that best expresses the meaning of the idiom or phrase given below.

‘A chip off the old block'

Ans x 1. to describe exactly what is causing a situation or problem
J 2. similar to someone in the generation before you
x 3. to flatter someone

x 4. to have some secret information about someone

Question ID : 54592714494

Q.5 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans X" 1 Pressbytarian
x 2. Presbaterian

J 3. Presbyterian

x 4. Presbuyterian

Question ID : 54592714491

Q.6 Select the most appropriate 'one word ' for the expressions given below.

Someone who criticizes or attacks cherished ideas and beliefs
Ans x 1. Lexicographer

x 2. Composer

J 3. Iconoclast
x 4. Dictator




l Question ID : 54592714497

Q.7 Select the correct word HOMONYM that fills in the blank and makes the sentence
meaningful.

Mom could not pick up my sister because the

Ans X 1. tier
X 2.tire
x 3. tyer
o 4 tyre

of the car was punctured.

Question ID : 54592714486

Q.8 Select the most appropriate 'one word ' for the expressions given below.

To persuade by flattery or coaxing
Ans x 1. Callous

x 2. Juvenile
X 3. Epoch
( 4. Cajole

Question ID : 54592714496

Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans x 1. Allegence
x 2. Allegance
J 3. Allegiance
x 4. Alegiance

Question ID : 54592714490

Q.10 Select the most appropriate ‘one word ' for the expressions given below.

To influence someone in a deceptive way
Ans X" 1 Ethereal

X 2. Delirious
75 3. Pluviophile

J 4. Beguile

Question ID : 54592714495

Q.11 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans  of 1. Bourgeoisie
X 2. Bourgieoise
x 3. Bourgeisie
X 4. Borgwasy

Question ID : 54592714489




Q.12 Select the correct word HOMONYM that fills in the blank and makes the sentence
meaningful.

Kashyap away on his motorcycle in a huff.

Ans X" 1 rowed

X 2. road
« 3. rode
X 4. roed

Question ID : 54592714485

Q.13 Select the word that is closest in meaning SYNONYM to the word given below.

GENRE
Ans « 1. Category
x 2. Alluring
X 3. Ignorance
x 4. Upsurge

Question ID : 54592714488

Q.14 Select the word that is closest in meaning SYNONYM to the word given below.

ACUMEN
Ans X 1.Ignorance

X 2. Temerity

«. 3. Brilliance

X 4. Condemn

Question ID : 54592714484

Q.15 The sentences of a paragraph have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these sentences should be rearranged to
form a meaningful paragraph.

P: that the ability to be alone is an essentially healthy sign of emotional development and
maturity. Once a child has obtained closeness and attachment by his early caregivers, he or
she is able to develop emotional development and maturity.

Q: if children have not introjected the good and protective qualities of their parents,

R: they will fear separation and break-ups.

S: Kamer K Rueckert argues with the works of Donald Winnicott

Ans X" 1 PSRQ
o 2. sPar
/5 3.SQRP
/5 4.PQRS

Question ID : 54592714483

Comprehension:
Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India
Limited, a government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft
serving 94 domestic and international destinations. The airline has its hub at Indira Gandhi
International Airport, New Delhi, alongside several focus cities across India. Air India is the




largest international carrier out of India with an 18.6 ufa=ra market share.Over 60 international
destinations are served by Air India across four continents. The airline became the 27th
member of Star Alliance on 11th July 2014.

The airline was founded by J. R. D. Tata as Tata Airlines in 1932; Tata himself flew its first
single-engine de Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu
aerodrome and later continuing to Madras (currently Chennai). After World War Il it became a
public limited company and was renamed as Air India. On 21 February 1960, it took delivery of
its first Boeing 707 named Gauri Shankar and became the first Asian airline to induct a jet
aircraft in its fleet.

Air India's mascot is the Maharajah (high King). It was created by Bobby Kooka, the then-
commercial director of Air India, and Umesh Rao, an artist with J. Walter Thompson Limited in
1946. Kooka stated that, "We call him a Maharajah for want of a better description. But his
blood isn't blue. He may look like royalty, but he isn't royal". Air India adopted the Maharajah as
its mascot in 1946. It was used in promoting it although initially designed only for the airline's
memo-pads.

SubQuestion No : 16
Q.16 According to the passage, J.R.D.Tata carried air mail from
Ans X" 1. Mumbai to Kerala

( 2. Karachi to Chennai
/5 3. Chennai to China

K 4. Mumbai to Karachi

Question ID : 54592714503

Comprehension:
Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India
Limited, a government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft
serving 94 domestic and international destinations. The airline has its hub at Indira Gandhi
International Airport, New Delhi, alongside several focus cities across India. Air India is the
largest international carrier out of India with an 18.6 ufa=ra market share.Over 60 international
destinations are served by Air India across four continents. The airline became the 27th
member of Star Alliance on 11th July 2014.

The airline was founded by J. R. D. Tata as Tata Airlines in 1932; Tata himself flew its first
single-engine de Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu
aerodrome and later continuing to Madras (currently Chennai). After World War I, it became a
public limited company and was renamed as Air India. On 21 February 1960, it took delivery of
its first Boeing 707 named Gauri Shankar and became the first Asian airline to induct a jet
aircraft in its fleet.

Air India's mascot is the Maharajah (high King). It was created by Bobby Kooka, the then-
commercial director of Air India, and Umesh Rao, an artist with J. Walter Thompson Limited in
1946. Kooka stated that, "We call him a Maharajah for want of a better description. But his
blood isn't blue. He may look like royalty, but he isn't royal". Air India adopted the Maharajah as
its mascot in 1946. It was used in promoting it although initially designed only for the airline's
memo-pads.

SubQuestion No : 17

Q.17 According to the passage, who among these is the mascot for Air India?
Ans x 1. Rai Bhadur

X 2. Kuwarsa
( 3. Maharajah

x 4. Thakur

Question ID : 54592714502

Comprehension:

Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India
Limited, a government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft
serving 94 domestic and international destinations. The airline has its hub at Indira Gandhi
International Airport, New Delhi, alongside several focus cities across India. Air India is the




largest international carrier out of India with an 18.6 ufa=ra market share.Over 60 international
destinations are served by Air India across four continents. The airline became the 27th
member of Star Alliance on 11th July 2014.

The airline was founded by J. R. D. Tata as Tata Airlines in 1932; Tata himself flew its first
single-engine de Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu
aerodrome and later continuing to Madras (currently Chennai). After World War II, it became a
public limited company and was renamed as Air India. On 21 February 1960, it took delivery of
its first Boeing 707 named Gauri Shankar and became the first Asian airline to induct a jet
aircraft in its fleet.

Air India's mascot is the Maharajah (high King). It was created by Bobby Kooka, the then-
commercial director of Air India, and Umesh Rao, an artist with J. Walter Thompson Limited in
1946. Kooka stated that, "We call him a Maharajah for want of a better description. But his
blood isn't blue. He may look like royalty, but he isn't royal". Air India adopted the Maharajah as
its mascot in 1946. It was used in promoting it although initially designed only for the airline's
memo-pads.

SubQuestion No : 18
Q.18 According to the passage,which among these was the first Boeing 707 for Air India?

Ans " 1. Shiv Shankar
(2. Gauri Shankar
/X 3. Gauri Parvat

K 4. Gauri Sinha

Question ID : 54592714500

Comprehension:
Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India
Limited, a government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft
serving 94 domestic and international destinations. The airline has its hub at Indira Gandhi
International Airport, New Delhi, alongside several focus cities across India. Air India is the
largest international carrier out of India with an 18.6 ufa=ra market share.Over 60 international
destinations are served by Air India across four continents. The airline became the 27th
member of Star Alliance on 11th July 2014.

The airline was founded by J. R. D. Tata as Tata Airlines in 1932; Tata himself flew its first
single-engine de Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu
aerodrome and later continuing to Madras (currently Chennai). After World War I, it became a
public limited company and was renamed as Air India. On 21 February 1960, it took delivery of
its first Boeing 707 named Gauri Shankar and became the first Asian airline to induct a jet
aircraft in its fleet.

Air India's mascot is the Maharajah (high King). It was created by Bobby Kooka, the then-
commercial director of Air India, and Umesh Rao, an artist with J. Walter Thompson Limited in
1946. Kooka stated that, "We call him a Maharajah for want of a better description. But his
blood isn't blue. He may look like royalty, but he isn't royal". Air India adopted the Maharajah as
its mascot in 1946. It was used in promoting it although initially designed only for the airline's
memo-pads.

SubQuestion No : 19

Q.19 According to the passage, Air India was founded by whom?
Ans  of 1 JRD Tata

/5 2.Ratan Tata
K 3. Dadabhai Tata

/X 4. Sohrabji Tata

Question ID : 54592714501

Comprehension:

Read the passage below and answer the questions that follow.

Air India is the flag carrier airline of India, headquartered at New Delhi. It is owned by Air India
Limited, a government-owned enterprise, and operates a fleet of Airbus and Boeing aircraft
serving 94 domestic and international destinations. The airline has its hub at Indira Gandhi
International Airport, New Delhi, alongside several focus cities across India. Air India is the




largest international carrier out of India with an 18.6 ufd=rd market share.Over 60 international
destinations are served by Air India across four continents. The airline became the 27th
member of Star Alliance on 11th July 2014.

The airline was founded by J. R. D. Tata as Tata Airlines in 1932; Tata himself flew its first
single-engine de Havilland Puss Moth, carrying air mail from Karachi to Bombay's Juhu
aerodrome and later continuing to Madras (currently Chennai). After World War Il it became a
public limited company and was renamed as Air India. On 21 February 1960, it took delivery of
its first Boeing 707 named Gauri Shankar and became the first Asian airline to induct a jet
aircraft in its fleet.

Air India's mascot is the Maharajah (high King). It was created by Bobby Kooka, the then-
commercial director of Air India, and Umesh Rao, an artist with J. Walter Thompson Limited in
1946. Kooka stated that, "We call him a Maharajah for want of a better description. But his
blood isn't blue. He may look like royalty, but he isn't royal". Air India adopted the Maharajah as
its mascot in 1946. It was used in promoting it although initially designed only for the airline's
memo-pads.

SubQuestion No : 20
Q.20 According to the passage, which among these is the flag carrier airline of India?

Ans  of 1 Airindia
x 2. Jet Airways
X 3. Maharaja Airlines

x 4. Indian Airlines

Question ID : 54592714499

Section : General Hind

Q.1 fA=fafEd usr &, ar fAereul & §, 39 faeheq 1 a9 &R Sit 20T 2 1 gl faehed gl
Ans x1_:ﬁwq

X 2.5

W 3. didl

/X 4.7

Question ID : 54592714504

Q.2 fa=fafEd usr &, arR el d @, 39 ey o1 =a= &3 St 2 710 2reg & faeity reg 1 98l
farea g1

fager
Ans X‘IW
W 2=
X 3 sgd
X 4. U

Question ID : 54592714512

Q.3 f=fafaa usn &, ar el & @, 39 A o oa= &R 5t Ry 7Y 21 & yafgarh e &1
T e 781 81

areft
Ans B 1w
X 2%
X 3. e




o 2 oo

Question ID : 54592714510

Q.4 F=afafae usr §, ar Reeul 7 9, 39 ¢ faey @1 999 & it R T3 & 6 Suge oeg &1
g fRrea 81

gatdg i 2
Ans x1_:—|-q-r
X 2.
W 3
X 4T

Question ID : 54592714517

Q.5 ol v d, ar e | 8, 39 fasea o1 9g+1 & Sl [ 21 1 T8t A g1
Ans X' 1 gurgmre

/X 2. gurame

o 3.z

/X 4. gurEtan

Question ID : 54592714518

Q.6 F=fafad us d arR fweal & |, 39 I8 e &1 7a=1 &R it R+ = & fog sfRa fawe
g

RfFFaw____ @ @i
Ans X 1aE
X 2.@e
W 3.5
X 4.@@

Question ID : 54592714515

Q.7 fA=fafEa us &, ar Rereul d 9, 39 faerey o1 aa= o St R 710 2reg & gumemeff eres
farere =g 81

R
Ans X 1 qrog
W 2wk
/X 3. 3r@yd
75 4. g

Question ID : 54592714516

Q.8 Ao us A, ar faereal & 9, 39 fereq o1 9a=1 = st Ry 71g arem & g sreg & 9 &
gl fAerea gl

1Y T FAT @1 § AT T FHEr GA @ B
Ans J 1. GHEMTRAROT Geeleh 3y




/X 2. cfdeu EeEsY e
/X 3. Frerar Rt s
75 4. uRmTOTETTe Rt sr

Question ID : 54592714508

Q.9 fFr=fafRe usr #, ar Rl 7 9, 39 Riveu o1 ag7 R 1 fovar & A aren 9 Reeu g
T 3 WNTeRR 9 TRl
Ans X" 1 g
/X 2. wigeh fewar
o 3. g R
7< 4. SRonefs e

Question ID : 54592714507

Q.10 fA=fafad us &, AR Reeal 7 |, 39 fAee &1 wg= &2 it Ry 7q araisr & A geh 2reg &1
gl faemea 81

fousr ag A7 aren
Ans (1W
X 2. g
75 3. e
X 4 it

Question ID : 54592714514

Q.11 F=fafE@a usr #, 9R el 7 |, 39 a8 ferea o1 997 &R St 3g g 2reg-g7 & oref @1 @&t
faerea gl

S-S
Ans X 1 g 3R Ut
X 2. iR 5gw
/X 3. uch ok e
of 4 = iR ot

Question ID : 54592714513

Q.12 fA=fafaa us 7, aR faweal 7 @, 39 fAeea o 9a= w1 ot Ry 71q 2rez & ey e o 9
faerea 81

@
Ans X 1 faemg
o 2 =

p R
X 4.gew

Question ID : 54592714511

Q.13 fA=fafad us &, aR Reeal 7 |, 39 fAeeu &1 9= &R it Ry 7y 21z & fog 98 duem




aeqEy AT & farg o faRea gt
g
Ans  of 1 T g omE
75 2. 9 g amE
/X 3. @@ gr 3
X 4 g e

Question ID : 54592714506

Q.14 f=afaf@d usr &, ar Rl 7 |, 39 Reu &1 999 R Sit fige J Ry 19 2reg & R s
oY aTeeh S i Hgl faehed gt

Ans X 1. (qR) 3 of St & v s AR
/X 2. (g9) T o o que | e 311 2@
o 3. (3 ot Rt oft T o aeRd B
25 4. (gF) AR e =TE g b g

Question ID : 54592714523

Q.15 R=fafaa usr d, aR fawreal 7 Q, 39 faeea o1 aa= & st e 70 21ez & vafgear s 1
gl faeea 7gi 81

=i
Ans X1 aifRe
X 2. zmoft
X 3. afrr

of 4 arft

Question ID : 54592714509

Q.16 fA=faf@d usr 7, o RAeeal A @, 39 RAerea o1 997 =R St TT Yehaa 2AeE hl a9 ST
farea 81

Ans X 1 gt
X 2. 98
p R
of 4 s

Question ID : 54592714521

Q.17 f=fafaa us g, aR faweal d @, 39 fAeea o1 997 w1 St Ry g 21z o1 SAfeiT ereg aren
faerea 21

feremrar
Ans X 1 frerch
o 2 R
7% 3. e
/X 4. Refya

Question ID : 54592714520




Q.18 fA=fafad us &, IR faereal # @, 39 frerea o1 == 62 St fadeft eree o1 &) faerea T &
Ans X 1 dfife

W 2w

/X 3. afle

X 4w

Question ID : 54592714505

Q.19 fAfafEa v d, ar Reedl d |, 39 Riered &1 ag= &3 it 9e1 gfeenT arer o &1
Ans X 1 werd

W 2.5

/X 3. meied

< 4. Ferg

Question ID : 54592714519

Q.20 FrafafEd us #, R Rt § |, 39 e o1 aa= o) it RRg 71 ez & agera res &1 qed
3T e &1

aq
Ans 1 aey
W 2 g
75 3. aysh

75 4 ayai

Question ID : 54592714522

Section : General Hindi2

Q.1 = faereul # @ REngar ar= aRad= o1 e gfAg)
T G ) @i (TaeT=)
Ans X" 1. @ g & g @ S
2 2. w7 @ @
o 3. 7= @ @ T @

25 4. @ = @ s

Question ID : 54592714527

Q.2 fA=fafae v d, ar feeal § 9, 39 e o1 9= &R <t Ry 79 area & o g & dg @
a9 o<1 faaea 81

e g st frerera A g gl
Ans x 1. degrs
o 2. s
x 3. fgpare
X 4. Remd




Question ID : 54592714525

Q.3 f=fafae v d, ar feeal & 9, 39 fasea o1 9g+ = w1t R 78 gerer & forg wg oref aren
faerea 81

3@l uR FEAT
Ans X 1. gifda g
/X 2. s @
o 3. 9w qu R g

75 4. uge T o

Question ID : 54592714535

Q.4 fa=fafEd usr &, 9rR fAereul d Q, 39 ey o1 9a= & 51t 98l are 9 &1 fasea g8l
Foft st & o S agar oreeht e 81
Ans X" 1. gk are
/X 2. Tgarae ae
/X 3. Thaarae are
o 4 fsaE

Question ID : 54592714529

Q.5 fAm=fafae v d, ar feeal & 9, 39 fasea o1 ag= = w1t form Rig g=F area @1 a8 e
g

Ans X 1. o g, TR @ R, auf &, @ ot
o 2 e R e, auf g < oft
75 3. 579 & WR @ Fiehel! awf g & ofhi
/X 4. 519 g R ke, auf g1 & oft?

Question ID : 54592714531

Q.6 F=fafaa us &, ar fAeeal & @, 39 e &1 7a9 &R 51t 9 area A &1 fawe g
R freres aga o< &)
Ans  off 1 e T
X 2. Ry g
/< 3. Priearee ar

/X 4. Tgeh are

Question ID : 54592714528

Q.7 fA=fafEa usr &, ar Rereul d @, 39 e o1 wg= o St R 71 are & fAg uer & 9 &
TS o<t faerea g1

gt U Srat R gHE &
Ans X 1 gawEies
X 2. smsEiae
o 3. Peramiaes




/X 4. wfdeiden

Question ID : 54592714526

Q.8 fFr=fafld uy #, ar fReredl § @, 39 T@ Rerea =1 aa & st § 7€ daniF & g ot arof
aT1et e 21

o= g1 fom ot et ot A8
Ans X 1. wga Rl are foheht @ forern
X 2. 98 afn @ et ) gt
fauﬁmaﬂw\wwfﬁwm%

/X 4. 45 aR S AT

Question ID : 54592714538

Q.9 fa=fafEd us &, IR faeretl & @, 39 feheq o1 =a= &3 St &1 1S dlenii<h o fog It oref aren
fasea 1

R Theh THIM T
Ans X" 1 foneft T eR T
X 2. g aRA
of 3. oo & gEEE AR g @
7X 4. T a=

Question ID : 54592714537

Q.10 fR=fafad usn d aR faereal # @, 39 farerea &1 == e St 3T 71Q arera & a1t & A< &1 Tt
faerea g

ol St | Rt 21
Ans  off 1 wET adAEET
75 2. sl ydeprer
/X 3. 3T g

75 434
eIHTeT

Question ID : 54592714524

Q.11 F=fafEa usr §, 9R fereul 7 |, 39 fAereu o1 999 & St 3y 71¢ gerer & g 98t ordf arenm
fasea 21

ST AT AT
Ans X1 AT
W 2. & T TR s & ae
£X 3. T B ST e

7 4. 3o & Freherara

Question ID : 54592714533

Q.12 F=faf@a usr #, 9R el 7 |, 39 Rereu &1 oo+ = St Ry 71 gerer & fog a8t o aren
farea 81




i dg R AT
Ans X1 ST el
/X 2. sia g
/X 3. @
J4.wr—mé?1

Question ID : 54592714534

Q.13 F=faf@a ust #, 9R el 7 |, 39 ey &1 9o+ & Sit favm Rig g+ arerr &1 98 e
Gl

Ans X" 1 gn O TR Uk AIRA 8! I &4, el 2T 21
J 2. 89 U8 R YR ARG §; 98 81 el ST 3
X 3. 5 g W, Ge AT &, 76 &, e 3t 21
75 4. 59 08 R UeR HRA @ 98 §Y et a1 8

Question ID : 54592714532

Q.14 f=fafad usn d or faereul # |, 39 fAeea &1 aa &2 St Tt arery A< a1 faerea gh
Ear A @ ST 3R H41 A SRaq g
Ans  of 1 v ar
75 2. fsam
/X 3. W g

25 4. Reraraes ar

Question ID : 54592714530

Q.15 fA=fafad s &, TR Rereal 7 |, 39 faeea &1 oa= &2 it € 71 winifs & forg g oref arer
faerea 21

g | FFUR T R T Tgar
Ans X" 1 R A AT
o 2. R 6 7 g o T & F aR
X 3. @ afs
75 4. el & oft weh 1 g

Question ID : 54592714536

Comprehension:

= few 7y Teriar Y eargde g ok Ry g st & At IR |

sfierg<h SaeR W Y Upfa Sk cafthed &t IgIfed oeat &1 I, uieia ok ufasr smeror & offa 81
2fierg<h FagR Udeh afth & oy fgdehe 81 3T9 7 i AR Fgdt g | ficrar eaf<h Teen gad Siid
T &1 2fieRI<h SHagR ¥ ehgdl o T ¢ | 3T STRieT 3R Heg ol fRAfaat seft Icu= =1l gl 5o
Y g@< aTdrervl T goi giar g, s aeft ueradr ar ergva axd &1 fierar safth smom dudh & e
aret gt <At ot g ahean 21 et & afe ot a1 s & it ag sroe Rieres § affdd fem o
&1 e G| fietar Sifrenrt a1 et & siTcrafay $i g W gt g ! § ofik 1 g 39k
Afched B AT AT ST ST &1 3§ S 0T i JufRAfT F Sifdenr) v iR srefirer srefanfat & i,
fRrgrerToT SfR frenfefal & st Jur s ok i & 9 AYR Td wTe dey U 8id ¢ 3R U
Tt T RIGRST H gfeg Bl &1 9 70T & AT @ BIC-G-BieT Afh I Tl Tgrfd o1fSia o o 81

SubQuestion No : 16




Q.16 famefi & afy 2fie =1 srvmar & &t = gtar &2
Ans X 1 wigRE A 9

25 2. aifea Riem ure a8

X 3. wgeagof arreRor

4 Rendafa

Question ID : 54592714542

Comprehension:

= g 77g Teriar Y eaTgE e ¢ ofk iy Qg U & watad IR g |

feRI<h IR 7= <l Upfal iR Safhc ot IgIfed heaT &1 399, TRia ofk ufdsr simeror gt <fte 81
feRI<h TR U Afh & folg fRaane 81 398 AT & wnfa siget 81 <ferar aafth qae ga Sfta
AT 81 MRI<h TIER T Shgdl X WRTA | T STRIeAT SR Teg i At weft o= 781 gidl | 3a&
U8 Y@< aTdrervl i goi gial ¢, fSas aaft ueradn a1 srva axd &1 2fierar safth smom duh & e
aret TofY v Rt gurTfaa ahear 21 fRuameff & afe <fiet @ srvra &t ag 1o fveres @ aifed fRem o
&1 I TR | ferar SHfeprt a1 ARt § STHATIY Sl gig W gl 811 T & SR a1 & 3eh
fhed H QATClIdT 31T ST & | 39 31T T[0T & IUFRATA & SHfIerRY af ok srefieer srefaniat & i,
fRreremToT ofR frenfefat & dfta o s ofk anfid & e AR vd wme dee wnfid g € ofk v
Tl hl HRIGAT 7 g Bl &1 39 0T & ATeHH § BIC-G-Olel afth T9i dhl FargHfa 31ffd e ofar 31

SubQuestion No : 17
Q.17 =fiergeh =asr @ foradhl Rafa sau= =& gt &2
Ans X 1 ysigg

W 2. smsie sk d@e
Z< 3.y o S
75 4. g@e aremeRo

Question ID : 54592714541

Comprehension:

= g 7y wTeriar Y eaTgde ud ok iRy Y s & At IR |

Sfierg<h SaeR 7= Y Ui SR afthed ol IgIfed el &1 I, URieH1 8k ufasr srreror g offe 81
2fieR<h IR U Afh o folg fgaane &1 3U9 A3 i =1l Jget | feraT eafh Gaen gad Sfa
T &1 fieRI<h TR ¥ gl o WITA &1 3T STRiehT 3R Hag i fRAfaat seft Iau= =1l gl 5o
Y W< ITaTeRvl Sl Yo gidl &, foras It oe=dT &1 $1d &hxd ¢ | 2fieia™ a&afh oo 9udh | o
aret et <At ot g aheat &1 et & afe ot a1 srvma & it ag srom Rieres § aifda fem o
&1 e GehdT| fietar Sifenrt a1 et & sicrfay di g @d:gt g it § ofik r & 397k
fhcd H AT T AT ST 1 3T ST T[0T hl IURATT H Mfeprt ot SR srefiey srefanial & o,
fRrereRToT SfR fArenfefal & sfta gt amaes ofk afid & &9 AR Td wie dey T gid ¢ ok U
Tt el iR | gfeg 8l &1 59 70T & AT @ BIe-G-8ieT aAfh I8 Tl Terfd ofSia we o 21

SubQuestion No : 18
Q.18 TH g ol I Jugh 2fidfem-

Ans X" 1. yegegof ardreRor
X 2. wgsa i gt
75 3. Rierh sz Rvameff
of 4. arefiear e sreet smeROl

Question ID : 54592714544

Comprehension:

9 g 77g Teriar Y eaTgE e U SR g Qg e & gatad IR g |
2fIeRI<h TR A <l Upiat 3fR Safhcd ahl IGITed deal &1 I, TRIT 3fR ufdsr simeror gt <fi 81




Q.19

Ans

feRI<h TR U Afth & forg fRaa 81 399 A & =nfa siget 81 <ferar aafs qae geg Shta
T &1 2fieR<h SagR ¥ ehgdl g I | 3T STRieT 3R Heg ol ATl seft Icu= =1l g1l 59
Y g@< aTarervl i gor giaT g, [ aeft ueradt a1 srgwia axd €1 fierar aafkh o= dueh & o
aret Teft v Rt gurTfaa ahear &1 fRrameff & afy <fiet @ srvra & oY ag oo fveres @ aifdd frem o
o o Fend| fierar siferenRt at e & scAfayr Y gig a8t 81 ot & SR |1 gt I
fhed H QATlIdT 3T ST & | 39 ST T[0T & JUFRATT & SAfIRRY af iR srefimer srefaniat & i,
frerentToT ofR farenfefat & st aum ema ok anflia & T 7R vd we ey wifid gid & ofk v
Tl hl G H g Bl &1 39 0T & ATeEH § BI-G-oiel Afth I8! Gl Fgrgyfa sifsfd o= Aar gl

SubQuestion No : 19
g Y upfa ofik afthea F9 Igifed giar &2
75 1. R @

X 2. e
F R CE

W 4. sheigeh aar @

Question ID : 54592714540

Comprehension:

12 &g 71q TTeriR Rt eATgEe U SR 3 7T uel & ataH SR A |

2fierg<h HAGER AT I UG SR ATha dl IgIed SedT &1 3TH, TRIERT 3R ufds 1merur gt i g1
2feR<h TR Uk Afh o oIy fgdane 1 3UE A3 i a1 Jget | feraT aafh Gaen gad Sha
T &1 feRI<h IR ¥ gl o VI &1 3T STRieT 3R Hag i fRAfaat seft Icu= =1l gl 5o
Y Y@< ITATeRvT Sl Yo gidl &, fores Gt oe=dr &1 $1d &hxd ¢ | 2fieia™ a&afh oo 9udh | o
aret it AT Y g ahean &1 et & afe ot a1 s & it ag srom Rieres § aifsda fem o
&1 e GehdT| fietar Sifrenrt a1 et & siTerfay fi g @d:gt g ot § ofik r & 377k
ke | QAT 31T ST &1 39 31T T[0T &t IUFAT & HfARRY o 3R srefimrer srefanRat & o,
fRrererToT SfR farenfefat & st g s ofk anfid & T AYR Td wie dey U 81d ¢ 9k U
Tt el hRIGRISdT & gfeg Bl &1 59 T[0T & ATead O BIe-9-8ieT Afh el Sl Tergfd oifSia & ot 81

SubQuestion No : 20

Q.20 399 & I - IT ATAAT A1 Tafgar=h T8l &2

Ans

W 1 aRRa
75 2. g

X 3. gaferr
75 4 Rear

Question ID : 54592714543






